Clamp Cylinder [ Slim Type |

CKG/CKP-X20 5 Series

025, 832, 240

How to Order

Built-in standard magnet type

with AC magnetic field resistant CKG B 32 - 50 Y S - P3DWASC _X2095

auto switch —_

Built-in strong magnet type

with magm:tic figldhresistant - 50 _Y_ S - P79WS E - X2 095
auto switc [ \_l

Clevis widthe Number of auto switches
A 9 mm Nil 2 pcs.
B 12 mm S 1 pc.
# Clevis width symbol n “n” pcs. (n =3, 4, 5--n)
For A: Clevis width B (12 mm) plus two 1.6 mm washers, making
the clevis width 9 mm. Slim Typee®
Accessories in the form of pins/flat washers (4 pcs.)/cotter
pins (2 pcs.) are included (but not assembled). o Auto switch
For B: Accessories in the form of pins/flat washers (2 pcs.)/cotter For applicable auto switch model, refer to
pins (2 pes.) are included (but not assembled). the.
Bore sizee Nil | Without auto switch (built-in magnet)
25| 25mm Cylinder stroke ® Without switch mounting rail
32| 32mm o ohe Standardistroke P Without auto switch (bui!t-in magnet)
40| 40mm 225 to 040 | 50, 75, 100, 125, 150 With switch mounting rail
# Auto switch rails are shipped assembled.
# Auto switches are shipped together (but not assembled).
End b@cketo * Auto switch rails are shipped with mounting locations attached
l Y [ Double knuckle joint l on the right side, as you look from the rod end.
# Clevis width symbol .
For A: Clevis width B (12 mm) plus two 1.6 mm Built-in Standard (Strong)
washers, making the clevis width 9 mm. Magnet Cy|inder Part No.
Accessories in the form of pins/flat — -
washers (4 pes.)/cotter pins (2 pcs.) are 1) Built-in standard (strong) magnet type without
included (but not assembled). auto switch and switch mounting rail
For B: Accessories in the form of pins/flat Symbol for the auto switch type is "Nil" as
washers (2 pcs.)/cotter pins (2 pcs.) are shown below.
included (but not assembled). CKG: (Example) CKGA32-50Y-X2095
CKP: (Example) CKPA32-50Y-X2095
Optione
Nil None 2) Built-in standard (strong) magnet type without
- auto switch, with switch mounting rail
S With speed controller ) :
; Symbol for the auto switch type is "P" as shown
= Speed controllers (2 pcs.) are shipped below.
together (but not assembled). CKG: (Example) CKGA32-50Y-P-X2095
Table 1 CKP: (Example) CKPA32-50Y-P-X2095
Appllcable Magnetic Field Resistant Auto Switchesrefer to pages 941 to 1067 for detailed auto switch specifications.
Applicable Auto switch Applicable q Indicator Wiring Load |Lead wire | Applicable
cylinder series e model magnetic field Slzairez ey light [(Pin no.inuse)| voltage length load
P3DWASC . 2-wire (3-4)
Pre-wired connector .
P3DWASE 2-wire (1-4) osm
P3DWA o 0.5m
Solid state 1= EE A((:Sﬁzgllen-ittizzld Grommet 2-color 2-wire S m
CKG series auto switch gzngvgé AC welding indicator Dwire (3.4) 24 VDC 5m
magnetic field) | Pre-wired connector -wire {3— )
PADWSE 2-wire (1-4) oom | Relay
P4DWL 3m
rommet -wi Note 1)
P4DWZ G 2-wire 5m
P79WSE indeacsr | 2-wire (1-4) 03m
- Pre-wired connector 24 VD
. Reedauto /2376 DC/AC 2-wire (3-4) C L 05m
CKP series ; P74GSC L 1-color 0.3m
switch magnetic field L
P74L Grommet indicator oo 24 VDC 3m
P74Z W 1 100VAC [ 5m

Note 1) PLC: Programmable Logic Controller
Note 2) There are other applicable auto switches other than the listed above. For details, refer to page 487.
Note 3) Refer to page 488 and 489 when ordering the auto switch mounting bracket assembly or switch mounting rail assembly.

474



Standard Stroke

Clamp Cylinder

CKG/CKP-X2095 series

Specifications
Bore size (mm) 25 \ 32 \ 40

Fluid Air
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa
Ambient and fluid temperature -10°C to 60°C
Piston speed 50 to 500 mm/s
Cushion Rubber bumper
Lubrication Non-lube
Stroke length tolerance Note 1) 00
Mounting Note 2) Double clevis

= Refer to the CK1 series on pages 419 to 443 for “Safety Instructions” and “Specific Product Precautions”.
Note 1) Stroke length tolerance does not include the amount of bumper change.
Note 2) Clevis pin, cotter pin, flat washer are equipped as a standard.

Bore size (mm) Standard stroke (mm)

25, 32, 40 50, 75, 100, 125, 150

Refer to pages 487 to 489 for cylinders with
auto switches.

¢ Auto Switch Proper Mounting Position
(Detection at Stroke End) and lts Mounting
Height

* Minimum Stroke for Auto Switch Mounting

* Operating Range

* How to Mount and Move the Auto Switch

¢ Auto Switch Rail Assembly Part No.

Clevis width 9 mm e CKGA/CKPA
12 mm CKGB/CKPB
Note) 1.6 mm thick washer attached to 12 mm.
Option K
Symbol Description Part no. MK2T
. AS2201F-01-06W2 —
Flame resistant Port size: R1/8
S speed contr_ol!ers with Applicable tubing O.D. mm: g6 CKD1
One-touch fittings . —_
Control method: Meter-out type CLKZ
Theoretical Output CLKG
Unit: N CKQ
Bore size Rod size Operating | Piston area Operating pressure (MPa) CLKQ
(mm) (mm) direction (mm2) 0.3 0.4 0.5 0.6 lckOO
25 12 ouT 491 147 196 246 | 295 CLKCI
IN 378 113 151 189 | 227
32 12 ouT 804 241 322 402 | 482 CKQD
IN 691 207 | 276 346 | 415
40 12 ouT 1260 378 | 504 | 630 756
IN 1147 344 | 459 574 688
Welght (Basic weight includes the double knuckle joint and auto switch rail at 0 stroke.)
Unit: kg
Bore size (mm) 25 32 40
CKGO series Bas.u.: welghF (0 mm stroke) 0.30 0.37 0.51
Additional weight per 25 mm stroke |  0.04 0.05 0.06
CKPO series Bas.lc-: welghF (0 mm stroke) 0.31 0.38 0.53
Additional weight per 25 mm stroke |  0.04 0.05 0.06
Speed controller 0.04 0.04 0.04
Note) The above values do not include the weight of the auto switch and auto switch mounting bracket.
Calculation Example) CKG132-100YS-P-X2095 e Basic weight-----------ooooeeeeeeee 0.37 (232)
® Additional weight----------xeeve 0.05/25 stroke
® Speed controller-+ -++:0.04 (S)
® Cylinder strokg:««««««====xxxreeeeee 100 stroke
0.37 + 0.05 x 100/25 + 0.04 = 0.61 kg
D-[]
-XUJ

O
<

475




CKG/CKP-X2095 series

Construction: CKGLI/CKP[125, 32, 40

16 @1 9 (o q 7 14 ®
0 A
i —
f i "
| —_— — , , >
! @ |
| —. - - |
19—+ A
f ) H |
18 H® Hi
7
0 .
View A-A A
| —— , N
! ! |
L |
| —
®/' =1 CKP[125, 32, 40
Built-in strong magnet type
Clevis width symbol: B i . i
Component Parts
No. Description Material Qty. Note No. Description Material Qty. Note
1 | Rod cover Aluminum alloy 1 _|Trivalent chromated 13 | Magnet — 1
2 | Head cover Aluminum alloy 1 Hard anodized 14 | Bumper Urethane rubber | 1 Rod end
3 | Cylinder tube Aluminum alloy 1 Hard anodized 15 | Bumper Urethane rubber | 1 Head end
Piston Aluminum allo Trivalent chromated: 16 | Double knuckle joint Cast iron 1 |Manganese phosphate coating
. y ; CKGD 17 | Clevis bushing Steel strip + PTFE | 4
. . Trivalent chromated: 18 | Clevis pin/Knuckle pin|  Structural steel 2
PistonA Aluminum alloy CKPOJ 19 | Cotter pin Steel wire 4 |Zinc trivalent chromated
. . Trivalent chromated: Nickel plated:
5 | PistonB Aluminum alloy 1 CKPDJ . 8 Clevis width symbol A
20 | Flat washer Steel strip -
. Hard chrome plated: Nickel plated:
Stainless steel 4 Lo
. 225 Clevis width symbol B
6 |Piston rod 1 - -
Hard chrome plated: 21 | Spring pin Tool steel 1
Structural steel
232, 240
7 | Bushing Oil-impregnated sintered alloy| 1 .
8 | Wear ring Resin 1 Replacement Parts/Seal Kit
9 | Coil scraper Bronze 1 Bore size (mm) Order no. Note
10 | Rod seal NBR 1 25 CKA25-X2095-PS Set of b
11 | Piston seal NBR 1 32 CKAB2-X2095-PS © %”g; éo"e
12 | Tube gasket NBR 2 40 CKA40-X2095-PS o

476



Dimensio

CKA-X2095-Y02)

o Ty
SO T 4

(Clevis width: 9 mm

CK[IA25, 32, 40
(Clevis width symbol: A)

Clamp Cylinder

35

Shaft: 210d9 ( 25076

Width across

Double knucklg joint

(Clevis width: 1&mm CKB-X2095-Y02)

flats 10
& 5 °
SR
8 e |
- \ Width across
) ‘' flats E
H o o
1708 7§ \shatt o10d9 (5352 flats F
R CK[B25, 32, 40
% 2+ Stroke (Clevis width symbol: B)
35 ZZ + Stroke \
CK[IB25, 32, 40
(Clevis width symbol: B)
Pin (For Clevis/Double Knuckle Joint)
2x02
fﬁ?%
< — 1\“&, 2 2 ng
i S
TS 3
o/ | | s S
BT (W
— Part no. Applicable cylinder
©) CKLIA25 to 40 series
16 CKA-X2095-P02 | G\ (ia2s to 40 series © QKDeﬁﬁ, 32, 4b0I A
1.6 K ! CKOB25 to 40 series Vis wi symbol:
12193 EhER Ol CLKIIB25 to 40 series
« Cotter pins and flat washers are provided as a standard.
CK[IA25, 32, 40
(Clevis width symbol: A)
(mm)
Symbol
) Y DA |DB | E F | GA | GB HA HB HS | ol | SA | SB VA AL Z Y74
Bore size MAX.| MIN. | MAX.| MIN. MAX.| MIN. | MAX.| MIN.
25 14° | 14° |29.5|28.5|20.5| 75|156|14.9 (156|149 |31.9| 32 | 25° | 25° |49.3|44.3|49.3 |44.3 71.2 136.7
32 18° | 18° | 36 35 205| 82|19.5(/18.3|19.5|18.3|35.7| 39 | 27° | 27° | 52.8 | 47.3 | 52.8 | 47.3 | 72.2 | 137.7
40 21° | 21° |44.5|43.5|205| 11 24 222 |24 |222|39.6| 48 | 22° | 22° | 57.3|52.3|57.3|52.3|81.2\146.7

477

CKG/CKP-X2095 series

WK
W
wo
e

CKQ
CLKQ

CKCJ
CLKO

o




C(L)KG/C(L)KP-X2095 series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

D-P3DWALIL] Auto Switch Mounting Position and Its Height ~ Unit: mm
A Applicable Auto switch set value and its height
auto switch S 225 232 240
A 10.5 10.5 11.5
L D-P3DWACIC | B 8 9 11
El Hs 30.5 34 39.5
A 8 8 9
B D-P4DWCC | B 5.5 6.5 8.5
A Hs | 371 40.7 45.4
A 6 5 6
D-P79W B 2 4 5.5
A Hs 37.7 40.8 451
o A 6 5 6
[Oar=) D-P7UOCC | B 2 4 55
Hs 37.3 40.2 451

Note 1) The mounting position should be referred for reference only
for the auto switch mounting position at the stroke end
detection. Adjust the auto switch after confirming the
operation to set actually.

Note 2) A/B dimensions are the distance from the standard position MK
(above drawing) to the end surface of the auto switch.

Note 3) The auto switch mounting position is temporarily set at the —

A time of shipping from our factory. Change it to the desired MKZT

position in accordance to your facility.
Note 4) Adjust the auto switch after confirming the operating
0O 0 conditions in the actual setting. CKD1
° e j—
— . CLK2
0o 0
B —_—
CKQ
CLKQ
CKJ
A CLKC
- CKQC
‘;/‘jl; e =3
“HF 0
" -]
— = B
Minimum Stroke for Auto Switch Mounting Operating Range
Unit: mm Unit: mm
Bore size
Applicabl t itch 1 pc. 2 . Applicabl t itch
pplicable auto switc pc pcs pplicable auto switc 225 232 240
D-P3DWALI] 50 50 D-P3DWALI] 6 5.5 5.5
D-P4DWLIC] 50 50 D-PADW(I[] 5 5 5
D-P7CICICIC] 50 50 D-P71C1CIC] 8 7.5 8.5
= = = = = e e e e e e e e e e e e e
I Other than the applicable auto switches listed in “How to Order,” the following auto switches are mountable. 1
: «For magnetic field resistant 2-color indicator solid state auto switches, auto switches with pre-wired connector (D-P4DWCIDPC type) are also available. :
1 Please order the auto switch and mounting brackets detailed below separately from the cylinder. 1
1 . Auto switch mounting bracket part no. 1
Al h .
I uto switch part no 225 [ 032, 040 I
1 Note 2) 1
I D-M9LY/D-M9LCIV MBQ-1 I
I D-M9[IW/D-M9[ WV (2BQ2-012 Note 1) Only suitable for CKGI types. I
Note 2) Two types of auto switch mounting brackets are used as a
1 Note 2) set. The screws (M2.5 x 4 L) built into the auto switch are 1 D'D
1 | D-A9C/D-A9LIV — LBQ-1 not used. 1 —
1 @BQ2-012 Note 3) 225 is available through a special order of D-A9C)/D-A9CV. X
e o o o o o e e e e e e e e e e e e e e R Em R e e e Em mm mm e e e e ]

487 ®



C(L)KG/C(L)KP-X2095 series

How to Mount and Move the Auto Switch
BD-P3DWALI]

(DRemove either of two hexagon socket head cap screws that secure the
auto switch mounting rail. Since the spacer is installed between the cylinder
body and auto switch mounting rail, be careful not to drop the spacer.

(2)Insert the auito switch mounting bracket B (nut) into the groove on the auto switch mounting rail.

(3)Tighten the hexagon socket head cap screw you have removed in step (1) and fix
the auto switch mounting rail.

(4)Remove the hexagon socket head cap screw A (M2.5) attached to the auto switch. Mount the auto
switch mounting bracket (pressed stainless steel bracket) on the auto switch and tighten the hexagon
socket head cap screw A (M2.5) you have removed 3 to 4 turns to temporarily mount the bracket.

(B)Put the hexagon socket head cap screws B (M3) through the holes in the flange
(round holes at 2 locations) of the auto switch mounting bracket (pressed stainless
steel bracket) and screw them into the M3 tapped parts of the auto switch mounting
bracket B (nut), and tighten them 3 to 4 turns to temporarily mount the auto switch.

(8)After checking the detection position, tighten the hexagon socket head cap
screws A and B in order. Tighten the hexagon socket head cap screw B evenly.

Auto Switch Mounting Bracket Part No. for C(L)KGL-X2095 series (Including bracket, screw)
Applicable bore size
24 [ 32 [ 40

BK5-025S

Applicable cylinder

CKG[-X2095
CLKGLI-X2095

(Z)Modification of the detection position should be made in the condition of (5).
Note 1) The tightening torque for a hexagon socket head cap screw (M2.5) is 0.2 to 0.3
N:m. Hold the shorter side of a hexagon wrench, and turn it to tighten. (Too
much tightening may break the switch)
Note 2) The tightening torque for a hexagon socket
head cap screw (M3) is 0.5 to 0.7 N-m.
(Attached to auto switch)

Hexagon socket head cap screw A (M2.5 x 11 L) /

Hexagon socket head cap screw B (M3 x 6 L)

Auto switch
mounting bracket B

Auto switch

HED-P4DWLIL]

(1) Attach the auto switch to the auto switch mounting bracket C, using a hexagon
socket head cap screw (M3 x 12 L).

(The tightening torque is 0.5 to 0.8 N-m.)

(2)Fix the auto switch mounting bracket B and the auto switch mounting bracket C
temporarily by tightening the hexagon socket head cap screw (M3 x 6 L).

(3)Insert the temporarily tightened auto switch mounting bracket B into the mating
groove of the auto switch rail, and slide the auto switch onto the auto switch rail
through the groove.

(4)Check the detecting position of the auto switch and fix the auto switch firmly with
the hexagon socket head cap screw (M3x 6 L, M3x 12 L).

(The tightening torque is 0.5 to 0.8 N-m.)
(®)If the detecting position is changed, go back to step (3.

Applicable auto switch: D-P4DWL/Z, D-P4DWSC, D-PADWSE

Auto switch mounting

bracket parto. Contents Qty.

Bore size

Auto switch mounting bracket B
225 g

232 BK4-025 Auto switch mounting bracket C

NN [=]|—=

240 Hexagon socket head cap screw (M3 x 6 L, with SW + PW)

Hexagon socket head cap screw (M3 x 12 L)

Hexagon socket
Magnetic field resistant auto switch & ?// head cap screw

(M3x6L,
with SW + PW)
Hexagon socket—s (gmmo—- 12
head cap screw = Auto switch
(M3 x 12L) Do mounting
? bracket C
rf Auto switch
Hexagon socket head cap screw -7 mounting
(925: M3 x 9 L, with SW + PW) \§ : bracket B
(932: M3 x 10 L, with SW + PW) Auto switch rail
(240: M3 x 10 L, with SW + PW) @
Spacer ‘ 4)

(225: t = 3.5 mm)
(232: t =4.4 mm)
(940: t = 4.4 mm)

WD-P7L], D-P79WSE

(DAttach the auto switch to the auto switch mounting bracket C, using a hexagon
socket head cap screw (M3 x 15 L).

(The tightening torque is 0.5 to 0.8 N-m.)

(2)Fix the auto switch mounting bracket B and the auto switch mounting bracket C
temporarily by tightening the hexagon socket head cap screw (M3 x 6 L).

(3)Insert the temporarily tightened auto switch mounting bracket B into the mating
groove of the auto switch rail, and slide the auto switch onto the auto switch rail
through the groove.

(4)Check the detecting position of the auto switch and fix the auto switch firmly with
the hexagon socket head cap screw (M3x 6 L, M3x 15 L).

(The tightening torque is 0.5 to 0.8 N-m.)
(®)If the detecting position is changed, go back to step (3.
*«Be aware that D-P79WSE should be installed in the specified direction shown when installed to the auto switch mounting
bracket C. Be sure to mount it so that the soft resin mold surface is in contact with the auto switch mounting bracket C.

Applicable auto switch: D-P74, D-P74-376, D-P74GSC, D-P79WSE

Auto switch mounting

Bors EE bracket part no.

Contents Qty.

Auto switch mounting bracket B
225 g

232 BK2-025 Auto switch mounting bracket C

1
1

240 Hexagon socket head cap screw (M3 x 6 L, with SW + PW) | 2
Hexagon socket head cap screw (M3x 15L)| 2

488

Hexagon socket
head cap screw
(M3x6L,

with SW + PW)
Hexagon socket

head cap screw
(M3 x 15 L) (@umo—-

Auto switch

o mounting
bracket C
rt Auto switch

=Soft resin mold surface
(D-P79WSE)
Hexagon socket head cap screw 4 mounting
(925: M3 x 8 L, with SW + PW) \§ ‘ bracket B
(932: M3 x 9 L, with SW + PW) @ Auto switch rail

(040: M3 x 10 L, with SW + PW)

Spacer
(925:t=2.7 mm)
(932: t=3.5mm)
(040: t=4.4 mm)



Auto Switch Mounting C(L)KG/C(L)KP'X2095 Series

Auto Switch Rail Assembly Part No.

Applicable ; Applicable Auto switch rail assembl N
cylisger series Bore size psr;roke part no. g 2 ;Zxég,\zg )S(og t?u;;ag\fvaf }SD(\:/:le)w
50 CKG25-X2095-R050 (@32: M3 x 10 L, with SW + PW)
75 CKG25-X2095-R075 (240: M3 x 11 L, with SW + PW)
025 100 CKG25-X2095-R100 Auto switch rail
125 CKG25-X2095-R125
Spacer
CKG 150 CKG25-X2095-R150 (025: t = 3.5 mm)
CLKG 50 CKG32-X2095-R050 (©32: t = 4.4 mm)
75 CKG32-X2095-R075 (040: t= 4.4 mm)
032 100 CKG32-X2095-R100
125 CKG32-X2095-R125
150 CKG32-X2095-R150
50 CKG40-X2095-R050
CKG 75 CKG40-X2095-R075
gEIF(’G 240 100 CKG40-X2095-R100
CLKP 125 CKG40-X2095-R125
150 CKG40-X2095-R150
Applicable . Applicable Auto switch rail assembl )
cylisger series Bore size pslr'iroke part no. g 6\\@963‘(\0 '(';’2?9’\‘;2 )s(ogtetvﬂﬁ]ag\fvaf ?’(\:/:IP;W
50 CKP25-X2095-R050 .\,@x\‘, (932: M3 x 9 L, with SW + PW)
75 CKP25-X2095-R075 P\)‘o oV (240: M3 x 10 L, with SW + PW)
025 100 CKP25-X2095-R100 Auto switch rail
125 CKP25-X2095-R125 %
Spacer
CKP 150 CKP25-X2095-R150 (025 = 2.7 mm)
CLKP 50 CKP32-X2095-R050 (932: t= 3.5 mm)
75 CKP32-X2095-R075 (040: = 4.4 mm)
032 100 CKP32-X2095-R100
125 CKP32-X2095-R125
150 CKP32-X2095-R150

489

WK
W
wor
e

CKQ
CLKQ

CKCJ
CLKO

CKOC

D-UJ






